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DEFENCE AND STRATEGIC STUDIES
PAPER - 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each.
All questions are compulsory.

1.  What are the ways as discussed in the Arthashastra written by Kautilya on the basis of
which a person might be a slave ?

(i) By birth

(1)) By selling oneself voluntarily

(11) After being prisoner of war

(1v) After getting punishment from court

Select the correct answer using the code given below :

(1) (1) only (2) (i) and (iv) only

(3) (i), (ii) and (iii) only 4) (i), (ii), (iii) and (iv) only

2.  The security dilemma for realist understanding of world politics is significant for one of
the following :

(1) Very important, as it determines how, or if, a balance of power emerges.

(2) Very important, as it determines if balance of power emerges naturally or must be
constructed.

(3) Important, but not crucial to realist understandings of world politics.

(4) It determines how, if, a balance of power emerges and it determines if balance of
power emerges naturally or must be constructed.

3.  Arrange the following military thinkers in their correct chronological time sequence :
(1) Kautilya, Jomin, Mahan, Douhet (2) Douhet, Mahan, Kautilya, Jomini
(3) Mahan, Kautilya, Jomini, Douhet (4) Jomini, Douhet, Mahan, Kautilya

4. Identify the correct code for Assertion (A) and Reason (R) and use the code given
below :

Assertion (A) : Nature-states remain the primary actors in world affairs and their
behaviour is shaped by the pursuit of power and wealth, but it is also shaped by
cultural preferences, communities and differences.

Reason (R) : We know who we are only when we know who we are not and often only
when we know whom we are against.

Codes :

(1) Both (A) and (R) are correct.

(2) Both (A) and (R) are not correct.
(3) (A) is correct and (R) is not correct.
(4) (A) is not correct and (R) is correct.
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5. The system theory in International Relations is propagated by which one of the following :

)]
2)
3)
4

David Easton

Mortan Kaplan

K. Subrahmanyam

Robert Dahl

6. According to the freedom from fear understanding, the core of human security is

embodied in which of the following :

(1)
2
3)
“4)

The UN Charter

US Security Doctrine

Soviet Security Doctrine

International Monetary Fund

7.  Match the following books given in Table — I with their respective authors/editors given in

Table — II and use the correct code given below :

Table — 1
(Books)
a. Making Sense of Modi’s India L
b. Abode Under the Dome: State Guest at ii.
Raisina Hills
c. JFK’s Forgotten Crises : Tibet, the CIA iii.
and the Sino-Indian War
d. Beyond Hybridity and Fundamentalism : iv.
Emerging Muslim Identity in a Globalised
India.
Codes :
a b c d
(H i ii i v
(2) 1 iv i iii
3) iii i iv il
(4) iv il ii i

Paper-I111

Table — IT
(Authors)
Bruce Riedal
Sudheendra Kulkarni

Tabassum Ruhi Khan

Thomas Mathew

J-11-16
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8.

10.

Match the following books given in Table — I with their respective authors given in
Table — II and use the correct code given below :

Table - 1 Table — IT
(Books) (Authors)
a. The Turbulent Years : 1980-1996 1.  Peter Popham
b. For Tibet with Love : A Beginners Guide 1.  Thant Myint U
Where China meets India iii.  Pranab Mukherjee
d. The Lady and the Generals : Aung San iv. Isabel Losada
Suu Kyi and Burma’s Struggle for
Freedom
Codes :
a b c d
(1) iii iv ii i
2) iv i i iii

@ 1 m v i

4 1 1 i iv

Identify the correct code for Assertion (A) and Reason (R) as given below :

Assertion (A) : The United States is a sole super power in the World today, but it would
be too simplistic to describe the global system as unipolar.

Reason (R) : The growing importance of China and reemergence of Russia does not
warrant use of the label of Unipolarity to the existing structure of power in the
world.

Codes :

(1) (A) is correct, but (R) is wrong.
(2) Both (A) and (R) are correct.
(3) (A) is wrong, but (R) is correct.
(4) Both (A) and (R) are wrong.

During the tenure of which Governer-General of India the annexation of Sindh had taken
place :

(I)  Auckland (2) Napier
(3) Henary Laurence (4) Ellenborough
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11. Which UNESCO World Heritage site in Syria was demolished by the ISIS terrorists ?
(1)  Ancient Bosra Site (2) Site of Palmyra
(3) Ancient Aleppo site (4) Ancient Village of Northern Syria

12. Arrange the sequence of the following wars in ascending order and use the codes given

below :

(a)  Suez Canal Crisis (b) Gulf War

(c) Falkland War (d) Korean War
Codes :

(1) (@), (@), (0), (b) (2) (b, (d), (@), (c)
(3) (@), (b), (c), (d) @) (), (), (d), (b)

13. Match the following weapon system in List — I with countries having them in List — II and
use the code given below :

List - I List — IT
(Weapon Systems) (Countries )
a. Styx 1. India
b. M-8 ii. US.A.

c. Agni-V iii.  China
d. F-18 iv. Israel
Codes :
a b c d
(1 i il i v

2) 1 v 1 1
3) i1 v i1 1

4) iv iu 1 i1

14. ‘Stuxnet’ is used as a weapon in which one of the following warfare :
(1) Chemical warfare (2) Biological warfare

(3) Cyber warfare (4) Land warfare

15. The Regional Counter-terrorism structure of the SCO is located in :
(1) Beijing (2) Tashkent
(3)  Almaty (4) Ashgabat
Paper-III 8 J-11-16
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16. Which agency was created by US President George W. Bush after the 9/11 incident :
(1) Transportation Security Agency (2) Homeland Security
(3) National Security Agency (4) Department of Atomic Energy

17.  Which one of the following groups of countries included in BRICS ?
(1) Brazil, Russia, Indonesia, China
(2) Brazil, Russia, India, South Africa
(3) Brazil, Russia, India, China, South Africa
(4) Bulgaria, Russia, Iceland, Croatia, Sudan

18. Arrange the following in the ascending chronological order and use the code given below :
L. India-Japan Special Strategic Partnership
II.  India-Japan Agreement on Nuclear Co-operation
III. Russia-Tajikistan War
IV. Gulf War Il

Codes :
() IV,ILIL I 2) LILILIV
3) HOLIV,L 1 @ LIV, ILII

19. The principle of “Surprise and Deception” during a war is not exercised but in one of the
following conditions :

(1) Possibility of Strategic Surprise  (2)  Availability of Tactical Surprise
(3) Presence of Technical Surprise ~ (4) Overt Challenge to the Enemy

20. Which one of the following is an evidence of maritime terrorism ?
(1) Peshawar School Terrorist Attack (2) 26/11 Attack in Mumbai
(3) Javeri Bazar Blast (4) USS Cole Incident

21. When did the Republic of China (Taiwan) sign the Sea Bed Treaty :
(1) February 11, 1971 (2) March 11, 1972
(3) February 28, 1991 (4) February 11, 1991

22. Rykjavik Summit took place between which one of the following two leaders :

(1) George Bush - V. Putin

(2) Ronald Reagan - Mikhail Gorbachev
(3) George Bush (Jr) - Boris Yeltsin

(4) Ronald Reagan - Boris Yeltsin

Paper-III 10 J-11-16
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23.

24.

25.

26.

Identify the correct code for the following Assertion (A) and Reason(R) :

Assertion (A) : International boundary is not a line, but it is a vertical plain that cuts
across atmosphere, soil and sub-soil.

Reason (R) : International boundary is a vertical plain and appears as a line on the surface
of the earth.

Codes :
(1) (A) is wrong but (R) is correct (2) Both (A) and (R) are wrong
(3) (A) is correct but (R) is wrong (4) Both (A) and (R) are correct

Identify the correct code for the Assertion (A) and Reason (R) as given below :

Assertion (A) : Religion is not incompatible with development. Participants in the
Religion resurgence come from all walks of life.

Reason (R) : Evidently, Islamic fundamentalist movements have been strong in the more
advanced and severely more secular Muslims societies, which have been lightly
adept at using modern communication and organizational techniques to spread their
message.

Codes :

(1) (A) is not right and (R) is correct.

(2) (A) is correct, but (R) is not correct.

(3) Both (A) and (R) are correct, but (R) is not the proper explanation of (A).
(4) Both (A) and (R) are not correct.

‘Operation Leghorn’ carried out by the Indian Army in 1962 Sino-Indian War was aimed
at :

(I) to take control of the Chicken Neck Area
(2) to take control of the Tawang area

(3) to take control of the Chumbi valley area
(4) to take control of the Thangla Ridge area

“An asymmetric decision advantage integrating and synchronizing multi-source, multi
domain information” is related to which one of the following types of warfare recently
developed by the U.S. :

(1) Cyber warfare (2) NBC warfare

(3) Fusion warfare (4) Asymmetric warfare

Paper-III 12 J-11-16
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27. Match the following strategic subways with their respective countries and use the code
given below :

Table -1

a
b
c.
d

Strait of Malacca
Strait of Hormuz
Wakhan Corridor

Suez

Codes :

(1)
2
3)
4

a
i
v
ii

11

i1

11

v

11
i1

v

v

11

i1

Table — IT
1. Iran
ii.  Malaysia
.  Egypt
iv. Afghanistan

28. Match the measures (Table-I) with their proper explanation (Table-II) and use the codes
given below :

a.
b.
c.
d.

Table -1

Peace Making

Peace Keeping
Peace Building
Peace Promotion

Codes :

ey
2
3)
“4)

a
i
v
ii

11

i1

11

v

11
i1

v

L.

il.

1il.

1v.

v

11

i1

Table - 11
Use of mediation, conciliation and arbitration
Use of military personals as monitors
Rebuilding of institutions and infrastructure
Legitimisation and liquidation of issues

29. Arrange the following in their ascending chronological order and use the codes given
below :

L
IL.

III.
IV.

Reunification of Crimea with the Russian Federation

Shatrujeet Exercise by India

Capture of Golan Heights

Suez War

Codes :

ey
3)

Paper-I111

IV, IIL I II
IL IIL, I, IV

(2) LI 1L IV
4) ILILIV,I
14
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27. TF=AiTehd YOFITTS SUHWT Sl S99 Tl g A ST 3R e ST Fe 1 J&nT i

arferet — 1 arferet — 11
a. T 3 Holden i w/H
b. W< 3% e ii. AfmEr
c. TEH FHNER iii. =
d. = iv.  SAEMHEE
£

a b C d
(L i i i v
() iv i i i
3) i i iv il
4) ii v i il

28, THfAREd ST (AlfeTeh-1) i Seh! TYrad ST (alfetshl-11) o T GAferd Y 31X e 5T 7y

e HT AN H :
arfereet — I arfereet — I1
a. UG BHT i T, gole 3R Heae-HuE 1 suanT
b. U HIT ii. W & w9 H A=A 1 SqanT
c. U fafeeT jii. TEM 3T TIRRZFAR BT GAFHIOT
d. O uHeE iv. TG o ST Ue GREHTT (INSTICATESIIH Ug
IGIEEENE)
£
a b c d
(H 1 i i v
() iv i i i
3) i i1 iv i
4) i v 1 i

29, ARG S SHF STRIET HIoThHA H AT DT X A9 [§T 1T e 1 70T Y
[ & HBE % 9 i &1 faoa
I 9RT 5N IR 9 narg
I e TeTedl IX shestl

IV. @935

£

(1) IV, ILI11I () LILIIL IV
(3) ILILLIV (4) MLILIV,I

J-11-16 15 Paper-I111



30.

31.

32.

33.

34.

35.

Intended Nationally Determined Contributions (INDC’s) is a term used under
(1)  United Nations Framework Convention on Climate Change (UNFCCC).
(2) Intergovernmental Panel on Climate Change (IPCC)
(3)  United Nations Environmental Programme (UNEP)

(4)  World Commission on Environment and Development (WCED)
The Cyber security deal between India and Malaysia was signed on
(1) 24 November, 2015 2) 2" November, 2015

(3) 28 November, 2015 (4) 19 November, 2015

Arrange the following in the ascending chronological order and use the code given below :

L Gulf War -1 II.  Iranian Revolution

III. Soviet Union’s Afghan War IV. Beginning of Russia’s Chechen War
Codes :

(1) LIL I, IV 2) ILILLIV

3) NILIV,ILI 4 IV, ILILI

Arrange the following in the ascending chronological order and use the code given below :
L Agreement on India-Bangladesh Agartala-Akahura Railway Project

II.  India-Sri Lanka Agreement to Develop Civilian Nuclear Infrastructure

III.  Operation RAHAT

IV. Indo-US South Strategic Vision For Asia-Pacific and Indian Ocean Region

Codes :

(1) IV, ILILI 2) LIV, ILII

3) LILILIV 4 LILIV,II

Who among the following presidents called China as the “Biggest Kids” in recent times ?
(1) George Bush (2) Bill Clinton

(3) Barack Obama (4) John F. Kennedy

Arrange the order in which the following political leaders occupied their offices :

(1) Lyndon B. Johnson (1)) Rajiv Gandhi
(i11) J.L. Nehru (iv) Richard Nixon
Codes :

() @), (i), (@), @v) (2) (D), (1), (1v), (i)
(3) @, (), (v), (iid), @) (@v), (iiD), (i), (1)
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30.

31.

32.

33.

34.

35.

08T AT feetiie seiegeid (INDC) T el Y3eri Bial € 2
(1) FARES A WHeH HAAvH 34 FogHe ot (UNFCCO).
(2) TITEHEA Ut 31 Ferrgde o (IPCC)

(3) FAREE A TEERHSS W (UNEP)

(4) TS FHRE 3 TaE-HS U gaaade (WCED)

IR 3R TP & s rear GET FHeiic I e §&iei Ty e 2
(1) 247K, 2015 (2) 2@, 2015
(3) 287@sR, 2015 (4) 197@sR, 2015

T=AITehe T 3TRIET leTehy W SaRd SHiTTT 3T e T TN HifTT

L w@Ergs-1 II. 6 i

L. Higad 99 1 ST J5 IV. &F % 09 g F WY
T

(1) LILIIL IV () ILILILIV

(3) LIV, ILI (4) IV,ILIILI

TAifeRd =T STRIET HToTshH H =afed e 3T =9 ST T e BT W e

[ YRA-SFARYT SFRAC- 3R Yo URESTT & feTT Tl

. 9RA-siciet & s 3Tafeh AT SR sterena & fordr Tmehar
. SFReE T&d (RAHAT)

IV. URE-wed 97 BE-HemrR &3 o [0 YRA- SR Se J0HIaE ge
E T

() IV, ILILI 2) LIV, I

3 LILILIV @ LILIV, I

ee1 o feet O fAifeper Teeafaal O § fohem =i 1 “Herd 8T sr=ar” el € 2

(1) st ger (2) Tt foetea

(3) SR & (4) S U FHS

Frifehd TTiTaes Harel = F Setshd 3 STHR S W8T {sha o1, 39 e o Aread ¥ &l
() ToteT &t STHEA (i)  Ttre Ty

(il) .U, FEE (iv) T=e fee

£

(1) (i), (i), (i), (iv) (2)  (ii), (i), (iv), (ii)

(3) (@), (i), (iv), (iii), @ (v), (iid), (i), (i)
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36.

37.

38.

39.

40.

41.

42.

43.

‘Aman Ki Asha’ peace inititive has been launched to improve relations between :
(1) India and Bangladesh (2) India and Nepal
(3) India and Pakistan (4) India and Bhutan

Which one of the following was not the participant in the Bosnian War ?
(1) Muslims (2) Croats
(3) Serbs (4) Taziks

A system which is used as an object-detection system that uses radio waves to determine
the range, angle, or velocity of objects in modern warfare is known as :

(1) Radar system (2) Computer system

(3) Weapon system (4) Information system

Which one of the following is a Biological Warfare Agent ?
(I) Tabun (2)  Chloropierin
(3) Mustard (4) Anthrax

India’s first warship designed and built indigenously was commissioned on :
(1) 10 December, 1983 (2) 29 December, 1983
(3) 16 December, 1983 (4) 19 December, 1983

Which of the following is not considered in the process of Defence-budget making ?
(1) Assessment of National Resources (2) Enemy preparedness
(3) Climate conditions (4) Threat perception

Which of the following projects is the first project in defence sector in the framework of
the ‘Make in India’ ?

(1) MF-STAR radar system (2) HAL’s Light Combat Helicopter

(3) Kamov Ka-226 T Light Helicopter (4) CH-47F Chinook Helicopters

Match the fighter aircraft (List-I) with the origin of their country (List-1I) and use the code
given below :

List - 1 List - 11
(Aircraft) (Country)

a. Viggen 1. India

b. Mirage i. USA

c. F-18 ii. Sweden
d. Tejas iv. France
Codes :

a b c d

() i iv ii i
(2) iv il i ii
3 i i i v
@ i ii iv il
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36.

37.

38.

39.

40.

41.

42.

43.

fepet o1 T2 o ot el H GUR o 1T 30 ol 319 AT i S Tee i T o 2

(1) R 3R SrerRsT (2) 9RA 3 AU
(3) ¥RA 3R IR (4) YR iR =
ffetEd o 9 i SiETaTs g § 9niHe & o 2

(1) dfem (2) i

(3) @ (4) e

ST FEBRAT T AT (3S), HOT (G AT AT (@eAraet) % e % o WAt a5
SUGRT T T T Il AN STt FoTTed! <6l fhg 19 F ST e & 2

(1) ISR Yot (2) I TOTEA

(3) I VTt (4) g YOIt

ffatEd o 9 i S JETHar Teie ¢ 2

(1) dreA (2) FARIEIA

(3) "E=E (4) T

IR 1 Teel R @9 | festre ud (i fohu e Jgura st F18-T1 | o enfiet fwar mar 2
(1) 10 ER, 1983 (2) 29 R, 1983

(3) 16 EK, 1983 (4) 19 ER, 1983

frefeiiad o 9 Tohaeh! T&IT ST i Wishar | &t |1 STar & 2

(1) ST GHIEAT 1 ST (2) I H TR

(3) SiorErg i ferfadt (4) o Ht T

frefefiaa aiEemret 4 9 F 9 ¢ T 39 2fear o T 9 @I &9 S 9gll IREsE € 2
(1) TUHUF-TR ER aeq (2) UATUSA. i TAEE FIE AT

(3) HTHE HT 226 . AR TABEE  (4)  WUH.-47 U, o SeAipiey

Frefefad oreres fammt (Fei-T) ot Sk ST S90 (Flt-1T) 3 T1e Aferd Sifse 3R] A e e
T HT TN H

T -1 = - 10

(ferm=) (3w

fa= i 9Ra

®

b. TR ii. omiE
c. TH-18 iii. @reT
d. o g iv. wE
£

a b C d
(D i ivoii i
(2 iv i i i
3 i i i v
4 i i iv il
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44.

45.

46.

47.

The fire control system of Arjun-main battle-tank is imported from which one of the
following countries :

(1) Russia (2) Germany
(3) Israel (4) France

Arrange the following chronologically using the code given below :
(i) Latin American Free Trade Association

(1)) Kyoto Protocol

(ii1)) South Asian Association of Regional Cooperation

(iv) Biological Weapon’s Convention

Codes :
(D (@, (D), (iv), (i) (2) (D, (iv), (iiD), (ii)
3) W, G, (i), (iv) 4 (i), (1), (iv), (1)

Identify the correct code for the following Assertion (A) and Reason (R) as given below :

Assertion (A) : Viewed in retrospect, the Battle of Plassey and the subsequent plunder of
Bengal pushed the vast natural and other resources at the disposal of England.

Reason (R) : Bengal at the time of the Battle of Plassey was the most prosperous
province, industrially advanced and commercially great.

Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true and (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.

4) (A) is false, but (R) is true.

Identify the correct code for Assertion (A) and Reason (R) and use the codes given
below :

Assertion (A) : India is evidently more powerful than it was a few decades ago. It is not
only a major player in WTO negotiations, but also prominent in G-20, World Bank
and other international fora.

Reason (R) : “Make in India” is clarion call for Industrial Co-operation, which would
benefit all partners and turn India from a big importer to a net exporter of industrial
goods, including military hardware.

Codes :
(1) Both (A) & (R) are correct (2) (A) is correct, but (R) is not correct
(3) Both (A) and (R) are not correct (4) (A) is not correct, but (R) is correct
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44.

45.

46.

47.

T J5eh <oh-3T5[ bl S E07 YOTredt =l Ffefad o 9 T <91 & 31rare fopan T o 2
(H == (2) AT
(3) TEA 4) W™

fr=fefad st Jier ST T e 1 =T HRd §U HIeshiis T ¥ Fared Hif
(i) A TR g SR TR

(i) I Wb

(i) 3feroT TR & Tean THraTeH

(iv) Sifae eEr Ha=w=

£
(D @), (i), (iv), (i1) (2) (1), (iv), (i), (i1)
3) (), (i), (i), (iv) 4) (i), (i), (iv), (1)

frAferiae afiere (A) T (R) % el 2 i Tea iy AR = [T 7T 2 &1 0ET &Y

AMUHYA (A) : Td & URORT | W o T % 5 SR 3HS a1 el H g8 ojeuie | ot
TTehicieh Ua 31T GETeT ol fs1eT sht 3T &bt faam |

aéo-(R) : T % g % GHT IS ST T 3T R A T ¥ GO U6 TYF
rd ar |

E T

(1) (A) 3T (R) AT &l & 3R (R), (A) T T AN E |

(2) (A) 3R (R) 3HT TEl & 3T (R), (A) H Tel =AW Tél & |

(3) (A)TEE WR) TAE |

(4) (A)TEAE, W(R) TWIE .

frAferiae afiere (A) T (R) % el 2 i Tea iy AR = [T 7T 2 &1 0E &

AHAT (A) : F I T8t B! ol | YR e Tz & F 31k Ifeemedt & | 9 7 sheet
TG 23, A W U UG S €, siesh Si1-20, v ¥ AR o SR wE W
T ¥ |

Th (R) : “Hh o fear’ Sieiiies Geai & foiw s1uRRerd 3ea &, STad auff IriierRy i oy
Il & 3T YR &l Ueh 92 37&7deh 9 (Hael Faiae o 9 § gRaiad sam, fSad 8=
HIST-FE off A € |

C TAN
(1) (A) IR (R) I TIE | (2) (A)TEET A (R) T TRIE |
(3) (A) AT (R) I T T&I & | (4) (A) T TEIE, WR) TWIT |
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48.

49.

50.

S1.

India’s first indigenously developed SONAR dome which was flagged off is designed for
the following :

(1) It functions as the ships underwater eyes and ears.

(i) The SONAR dome is a structure fitted over the SONAR array to make it
transparent.

(ii1)) Through a SONAR dome an enemy ship can be identified five kms away.

(iv) Promotes inter-operability against the enemy ships.

Codes :
(1) (1) only (2) (i1) only
(3) (1) and (ii) (4) (1), (i1) and (iii) are correct

The BrahMos, a super sonic cruise missile is jointly developed by India and Russia. The
name of the missile is based on which one of the following two rivers

(1) Brahmaptura — Misha (2) Mokshadaini Ganga - Mishibishi
(3) Bhamaputra — Moskva (4) Moskava — Brahmani

Identify the correct code for Assertion (A) and Reason (R) as given below :

Assertion (A) : It is the constant trend of advancing Science & Technology to put more
and more power available at the disposal of smaller and smaller units. Progress in
display, sensing and transmission technology are startling indeed.

Reason (R) : Diffusion of scientific knowledge for solving military problems has become
so indispensible that the technological establishments have been heavily involved in
fulfilling the emerging needs.

Codes :
(1) Both (A) & (R) are not correct (2) (A) is correct, but (R) is not correct
(3) Both (A) and (R) are correct (4) (A) is not correct, but (R) is correct

Arrange the following in the ascending chronological order and use the code given below :
L. India-US signed the Defence Framework Agreement.

II.  Indo-US Civil Nuclear Cooperation Agreement.

III. 21" Conference the UN Framework Convention on Climate Change.

IV. BRICS Summit held in Fortaleza, Brazil

Codes :
() L ILILIV 2 ILIOLLIV
3 LILIV, I @ HILIV,ILI1
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48. 9RA H Ueedl IR Be] ¥R W {geh{ad WHR (SONAR) ¥ fohaeh forw festrm fevar mar & 2
(i) & SToid & foIT I o fieX 311 37”1 1 HH FAT ¢ |
(i) THR S Ush UET e &, S EHR W o S0 STEn ST €, dlieh 39 RSN SH=rm ST 9eh |
(iii) WHR S % AT § 917 o STerST o1 5 Th.H, ot g 9 Tea =T ST Tehell & |
(iv) 3T % U o Toeeg TR TTShATcHehT i J@Tdl ¢ |

Elg‘d' :
(I == (3) (2) I (ii)
(3) (i) FAR (i) @) (i), (i) 3 (iii) T E |

49. A H T F AT FToH FeT FoT HAEA S IR X EF 7 FgT €9 F fopiad T € |
TorTeet =61 g 9 it A 9 foR <1 ASE & TR W E 2

(1) &I — Hiem (2) TIEIRIEAT T - it
(3) SR — O (4) TIEHET — SR

50. TR 3T (A) 3T T (R) & 1T TEl e i Ted it

ATHHHT (A) : 3T ¢ W TaeT= IR WENTeh! Sl 98 Ueh 3TeRd T2 & [ a8 St 9 DIt 3hE
% IR T ST ¥ QT Ik ST T Tt & | BT Foslor, W Tos 3R T
TIEfiTen! o &5 H 39eh! Wd AT € |

T% (R) : 97 ToEeti & qH % folw Sfii-ieh STehNaT o1 JERoT 2o 3Taerd &1 gl & fF
TR UTqeM 98 SHRAr Savasharsti @i g § 9 a¥E | o € |

C TAN
(1)  (A) 3R (R) 3T T&l I & | (2) (A)TWEE W([R) T TR |
(3) (A)ATR) ST E | (4) (A) T TEIE, WR) TWIE |

51. IR I STRIET ST o SR AT HINTT SR A9 1§ e T F=0T i
I YRA-3HRE! T ST FHei T SR
. 9RA-3Re! i TR Feanm aoeiar
I, SoTay UReed W J.UA. HHae% o Hl 2131 Sk
IV. ST o ieiest § i (BRICS) ey THie T ol ST

72
() L ILILIV 2 ILIOLLIV
3 LILIV, I @ HILIV,ILI1
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52.

53.

54.

5S.

56.

57.

58.

59.

60.

Trans-Pacific Partnership (TPP) is :

(1) A trade agreement among twelve Pacific Rim countries.

(2) Technical and Economic Cooperation.

(3) An agreement to launch anti-piracy partnership among Pacific countries.
(4) None of these

Russian Fighter Aircraft MIG is designed and developed by which one of the following :
(I) Mikhail and Gurev (2) Mikoyan and Gurevich
(3) Misha and Gregory (4) Mironor and Glebor

Which one of the following is a chemical warfare agent ?
(I ECCM (2) Q-Fever
(3) Anthrax (4) Nerve Agents

Which of the following do not come under public sector undertakings ?
(1) Avadi Tank Factory (2) HAL
(3) Goa Shipyard (4) BEL

Which one of the following reasons the choice of weapon system is made ?
(1) Arms availability (2) Competition with adversary
(3) Cost effectiveness (4) War requirement

The Headquarters of the Asian Infrastructure Investment Bank is situated at
(1) New Delhi (2) Beijing
(3) Hong Kong (4)  Singapore

Which one of the following countries declared emergency after oil spill in Hits River
causing environmental threat ?

(1) Peru (2) Somalia
(3) Chile (4) Brazil

In which one of the following years Japan become the member of United Nations
Organisation (UNO) ?

(1) 1945 (2) 1947

(3) 1956 (4) 1958

Which one of the following countries is the largest producer of the illicit opium in the
world ?

(1) Myanmar (2) Laos
(3) Afghanistan (4) Pakistan
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52.

53.

54.

5S.

56.

57.

58.

59.

60.

24Tt aeRIT (TPP) &
(1) U9Iid TR & Tl oty ox ferd 12 et o aie s ST
(2) TR qer enfes Weam
(3) VT X o | SEgaT fokiH Wi 9 e o forg gwEiar

(4) U U 9 HIE TR

& g famm T (MIG) e Testem 3iR forefad fhar 2

(1) ToEmEs R R (2) TaEEE R Tew
(3) T AR IR 4) FRER R TR
foetifena o @ i TEEE g5 ATERE & 2

(1) zHEETE (ECCM) (2) TR

3) uu (4) 9 TieH (TG HAHDHRE)
iR & @ I AeST-h & 1 SUHH Tél & 2

(1) TSt & e (2) TALTA (HAL)
(3) e RS (4) & (BEL)

3MFY TOTTEA! o =2 o1 3R Fr=ifehd & & T8 2

(1) 3T-9% Tt SUCTSH (2) ¥ ¥ uiagiear

(3) T I qHTERNAT (4) Ig GEr SMEvIHATT
TRTE SPRZFR STOREHE Sjoh o1 G el e € 2

(1) = et (2) s

(3) ENTHAT (4) TR

Frefefad § 9 g 397 3 feed =1 0 9T SoihE & 915 AER0T i TRl 08T §H o HRAeR
TSI i T i oF 2

(H 9= (2) HETterar

(3) Taett (4) TSI

Ffafad O 9 g ad S dge T e (F.UA.23T) T 98 o7 o7 2
() 1945 (2) 1947

(3) 1956 4) 1958

foree o ffeiiad <9 & 9§ i 3799 TRIH T T T8 IARH & 2

(1) =ER (2)

(3) A (4) ifeREE
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61.

62.

63.

64.

65.

66.

In the present day world, trans-national migration is not being geared up by which one of
the following :

(I)  Push & Pull factors

(2) Fear of prosecution during war or internal unrest
(3) Insecure livelihood

(4) Environmental challenges and climate change

Identify the correct code for Assertion (A) and Reason (R) as given below :

Assertion (A) : India — United States strategic relations are moving in the direction of a
formal alliance.

Reason (R) : Indo-US relations are moving forward due to the Chinese expansionist
designs in South Asian region.

Codes :

(1) Both (A) and (R) are correct.
(2) (A) is correct, but (R) is wrong.
(3) (A) is wrong, but (R) is correct.
(4) Both (A) and (R) are wrong.

Recently ‘Human Rights Up Front Initiative” was launched to :

(1) punish staff and personal engaged in peace missions for violation of human rights.
(2) promote the protection of human rights in African countries.

(3) engage NGO’s and community organisations to protect human rights.

(4) improve how the UN system functions and how staff members are to perform.

India signed a number of agreements with UAE. Which one of the following is one of
them :

(I) Environmental Protection (2) To eliminate sea pollution
(3) Civil-Nuclear cooperation (4) Cyber security

North-South corridor is a transport corridor that connects :
(I)  Russia-China-India

(2) Russia-Iran-India

(3) Russia-Turkmenistan-India

(4) India-Pakistan- Afghanistan

Who among the following has authored ‘“The Permanent Revolution™ ?
(1) Mao-Tse-Tung (2) Gorbachev
(3) Putin (4) L. Trotsky
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61.

62.

63.

64.

65.

66.

A fave § Ffatad 5 § fds gRT T-UR Yoo Tel o6 @I 8 ?
(1) 7 U I Fd
(2) IS AT AR THA & IR SIS BT 9T |

(3) ST SRR
(4) TATEROT Heet AR SR STetarg uRad

fr=Tefad 31 (A) 3R 0% (R) % Gl e i Ted HieT ;

ATHHAT (A) : TRA-3RD! TSR Fay Teh ue{eh TSau i G § ag ® & |

T (R) : TRA-STNHT GaiY 51707 TS & T = o foaRaTe &1 o HRUT 271 9g W® & |
E T

(1) (A) AT (R)IAT T E |

(2) (A)TEE W (R) T E |

(3) (A) T E, W(R) W& |

(4)  (A) 3T (R) I TAT & |

FT TI TS GO Weed TR IHIUiea’ SRy fopar e &

(1) ifd e o et U8 9= Hihai i Sfed H & foly, STt AFEySR il Seeted aid & |
(2) TR ST H HHGNTehRI i & I WedTed P & fod |

(3) AHAYHRT i T & feTT TH.ST. 37, 3T AR TISHT T IMHA i & [T |

(4) TIFT L & U TAT SHP HHANET o TSI hl Sgak I & [T |

IR 7 I 3T STHRIT (UAE) & 919 3 Ui U & | F=Aitehd § S8 @ U A € 2

(1) TFTERoT T (2) THS! YU GcAH HEAT
(3) 3THME T T (4) HTEET gL

ST TATRT Ueh et MeAaRT &, S fifehd § T fohet <90 6l S@er i sirgar € 2
() ®F-==-9RA

(2) FTI-WE-IRA

(3) EI-THAHEE-IRT

(4)  TRA-UIHE- TR

frifed W | v “T WEme Rt forr o 2
(1) =T & g (2) TETEE
(3) e (4) UHA. e
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67.

68.

69.

70.

Which one of the following countries is related to the “Necklace of Diamonds” strategy ?
(1) China (2) Russia
(3) Japan (4) India

A major factor that continues to contribute to terrorist activities in the Middle East is :
(1) adecrease in crude oil prices in the world market

(2) the Palestinian effort to desert their homeland
(3) the presence of the U.S. forces in Afghanistan
(4) the overwhelming terrorist onslaughts by the ISIS

The big dam built by China on Brahmaputra river is known as —
(1) Yang Po Hydropower Project (2) Zangbo Hydropower Project
(3) Zam Hydropower Project (4) Yarlung Hydropower Project

‘Zero-Sum’ game refers to which one of the following ?
(I)  Win-Win situation for both

(2) Loss for both sides

(3) Winner takes all

(4) Neither a victory nor a loss for either

Read the paragraph and answer the following questions based on it :

Perhaps China’s most serious concerns over the rise of India have been the
uncertainty over the direction of New Delhi’s foreign policy, especially with regard to its
ties with Washington. Indeed, growing US-India defence ties and nuclear cooperation
were seen by Beijing as the Bush administration’s attempt to enlist Indian support in
constraining China’s rise. New Delhi’s ‘Act East” policy and its growing ties with Japan,
Australia and Vietnam, along with Washington’s pivot to Asia, feed into Beijing’s
paranoia of encirclement, even if India has the slightest interest in acting as a junior
partner of a US-led containment of China. Perceptions, and in this case, perhaps
misperceptions, matter. Meanwhile, India’s growing defence capabilities, ranging from
procurement of major weapons systems, enhanced military deployment in areas along the
Line of Actual Control, tests of long-range missiles, and maritime power projection
further convince China’s strategic analysts that Sino-Indian relations are no longer
confined to territorial disputes only, but are assuming greater regional and global
significance.
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Indeed, the two countries are actively pursing multilateral diplomacy. As emerging
economies and developing countries, Beijing and New Delhi share similar views on major
issues ranging from climate change, environment, the Doha Round of negotiations in
trade, to nuclear disarmament, space non-weaponisation, and a new multipolar global
order. In addition, the countries are members of the G20 and the BRICS (Brazil, Russia,
India, China and South Africa), a group of emerging markets that have proposed global
financial reform and are coordinating their economic policies. And finally, India’s
membership in the Shanghai Cooperation Organisation offers the prospect of opportunities
for future cooperation, ranging from anti-terrorism to stabilization of the Afghan situation.

China’s most serious concern about the rise of India is.

(1) uncertainty over the direction of India’s foreign policy.
(2) growing India-US defence ties.

(3) enhanced nuclear cooperation between India and US.
(4) All the above three

China feels that it is being encircled by India because —

(1) its growing ties with Japan, Australia and Vietnam, along with Washington’s pivot
to Asia.

(2) the US administration’s attempt not to enlist Indian support.

(3) Considering India’s efforts as futile to match China’s military strength.

(4) India’s foreign policy is inclined towards non-alignment.

China’s strategic analysts are convinced that —

(1)  Sino-Indian relations are no longer confined to territorial disputes.
(2) are only confined to growing defence capabilities.

(3) are only confined to arms race.

(4) are only confined to border problems.

India and China share similar views on major issues like —
(1) climate change, environment and nuclear disarmament
(2) Doha round of negotiations on trade

(3) space non-weaponization

(4) all the above three

India’s membership in the Shanghai Cooperation Organisation offers future cooperation in
the fields of —

(1) protection of wild life.

(2) prevention of small arms smuggling.

(3) having economic benefits.

(4) Anti-terrorism and stabilization in the Afghan situation.
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